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ET-1930

ENTRANCE EXAM. FOR MCA
(THREE YEAR COURSE), 2019-20

PART-I
(Mathematical Ability)
1. Monday falls on 4th April, 1998. What was the day 3rd November, 19877
(A) Monday (B) Sunday
(C) Thursday (D) Wednesday

2.  In a chess tournament, each of the six players will play with all other players exactly once.
How many matches will be played during the tournaments?
(A) 12 B) 15
© 30 D) 36

3. A boat can travel with a speed of 13 km / hr in still water. If the speed of the stream is
4 km/hr, find the time taken by the boat to go 68 km downstream.
(A) 2 hrs (B) 3 hrs
(C) 4 hrs D) 5 hrs

4. If 10 people can do a piece of work in 5 days, working 2 hours a day, how long will 2 people

take to do the same work, working 5 hours a day?
A 5 ®B) 8
© 10 D) 15

5. In a cricket match, five batsmen P, Q, R, S and T scored an average of 36 runs. S scored 5 more
than T; T scored 8 fewer than P; Q scored as many as S and T combined; and Q and R scored

107 between them. How many runs did T score?
(A) 20 B) 28
© 29 (D) 24

6.  Find the quadratic equtaions whose roots are the reciprocals of the roots of 2x*> + 5x + 3 ?

(A) 32 +5x+2=0 | B) 52+3x+2=0
O 3x2-5x-2=0 (D) None
ET-1930/KD/2228 ()
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7. In a group of buffaloes and ducks, the number of legs are 24 more than twice the number of
heads. What is the number of buffaloes in the group?
(A) 6 (B) 18
o 12 (D) 24

8. A train 150 m long is running at a speed of 68 kmph. How long docs it take to pass a man who
is running at 8 kmph in the same direction as the train?

(A) 5 sec (B) 9 sec
(©) 12 sec (D) 15 sec

9. If 5 women or 8 girls can do a work in 84 days. In how many days can 10 women and 5 girls
do the same work?
(A) 32 days (B) 48 days
(C) 52 days (D) 38 days

10. The ratio between the speeds of two trains is 7: 8. If the second train runs 440 kms in 4 hours,
then the speed of the first train is:
(A) 47.4 km/hr (B) 57.19 km/hr
(C) 68.13 km/hr (D) 96.25 km/hr

Questions 11-15 :

In each of the following questions, a number series is given with one term missing. Choose the correct

alternative that will continue the same pattern and fill in the blank spaces.

11. 2,7, 14,23, 2, 47

A) 31 (B) 28
©) 34 D) 38
12.°°%4-9 13,22, 95 7
(A) 57 B) 70
C) 63 (D) 75
ET-1930/KD/2228 @) [PTO.
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14.

[y
wm

16.

17.

18.

‘ (B) 5l
S (D) 53
@ 52
55. 0.65. 0.8, ?
o (B) 0.9
(A) 0.7
5 o 1
(© 0.5
13, 35, 57, 79, 911, ?
(A) 1145 (B) 1113
(C) 1117 (D) 1110
Every month Rani gives 65% her salary to her mother. She spends 15% of her salary and sayeg
the remainder. She saves $ 130 more than what she spends. What is her monthly salary?
2 (D) $2050

P and Q collected some phones cards in the ratio 3 : 2. When P gave away 42 of his phone cards,
the ratio of the number of P's phone cards to Q's phone cards became 1 : 3. How many phone
crads did Q collect?

(A) 36 (B) 48

<© 24 D) 60

The car hire charges in a city comprise of fixed charges together with the charge for the distance
covered. For a jounery of 12 km, the charge paid is Rs. 89 and for a jounery of 20km, the charge
paid is Rs. 145. What will the person have to pay for travelling a distance of 30km?

(A) Rs. 315 (B) Rs. 215
(C) Rs. 415 (D) Rs. 210
19. The foot of a ladder fs 6 m away from the wall and its top reaches a window 8 m above ¢
gr?und. If the ladder is shifted in such a way that its foot is 8 m away f all, to wht
height does its tip reach? R e
(A) 6m (B) 8
©C 10m ®) 4 "
m
ET-1930/KD/2228 @)

Scanned by CamScanner




20.

21.

22.

24.

25.

1000 tickets of a loitery were sold and there are 5 prizes on these tickets. If Saket has purchased
one lottery ticket, what is his probability of winning a prize?

(A) 0.005 (B) 0.006 3 G oy *
(©) 0.004 7
(D) 0.003 < e

A cylindrical container of radius 6 6 cm and height 15 cm is filled with ice cream. The whole ice
cream has to be distributed to 10 chi children in equal cones with hcmlsphencal tops. If the height
of the concial portion is four times the radius of its base, find the radius of the ice cream cone.

—

(A) 3cm (B) 4cm 27 g tAL A5

(C) 6cm (D) 5cm -7 }
| o

v Y @ .

A circular field has a circumference of 360 km. Three cyclists start together and can cycle
48 km, 60 km and 72 km a day, round the field. When will they meet again?

(A) 20 d y
) ays (B) 30 days :éé % 4/7(/'5’3 ¥
(C) 22 days (D) 15 days ’4,

,[Le'

Kunal bought a suitcase with a 15% discount on the labelled price. He sold the suitcase for
Rs. 2880 with 20% profit on the labelled price. At what price did he buy the suitcase?

(A) Rs. 2040 (B) Rs. 2400 v

4 ® 73 ot I 7y
(C) Rs. 2604 (D) Rs. 2640 2 — by

3
53 (2 Tr )
The cost of a table and chair are in the ratio of 5:7. If the cost of the chair and table is increased
by 20% and 10% respectively, then what will be the new ratio? L 2 /7(
(A) 16 : 17 (B) 55: 84 @
©) 60:77 (D) None of these 5 < / e
2728 )('7‘5:’ ¥

/—f}'
As observed from the top of a light house, 100 m above sea level, the angle of depression o
a ship sailing towards it directly, changes from 30 to 45 degress. Determine the distance travelled

by the ship during the period of observation.

(A) 753 m (B) 68.59 m
(C) 732 m (D) 7456 m
ET-1930/KD/2228 5) [PTO.
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her daughter to school next year (;«\f{L.r

r sending
by Rs. 20 every Dy

and raised her saving
12 months?

26. Kavleen wanted to save at least Rs. 6500 fo
12 months). She saved Rs. 450 in the first month
month. How much will she be able to save in the next

(A) Rs. 5600 (B) Rs. 6500

(C) Rs. 6720 (D) Rs. 6550

From a point 27 m away from its botton,

27. A peacock is sitting on the top of a pillar 9 m high. i
s ) | acock pounces on it. If their speey

a snake is coming to its hole in the pillar. Seeing the snake, Pec .
are equal, at what distance would the snake be caught from the hole?

(A) 13 m (B) 10 m

(C) 11m

(D) 12 m

28. A man running around a race course notes that the sum of the distance of the two flag posis B
from him is always 10 m and the distance between the flag posts is 8 m. The area of the path
he encloses is (in sq m)
(A) 15w

(C) 18=n (D) 8=

(B) 12m

29. A father with 8 children takes them 3 at a time to the zoo, as often as he can without taking the
same three children together more than once. The number of times he will go to the zoo, is

(A) 336 ®) 112
L ®) 48

30. A man completes 5/8 of his job in 10 days. At this rate, how many more days will it take him
to finish his job? A
(A) 5 ® 6 _
.4 (D) 8

31. Gasis .beil?g pumped into ‘a spherical balloon at the rate of 30 ft3/min. Then the rate at which
the radius increases when it reaches the value 15 fi, is (in ft/min)

A) 1/30n

= : (B) 1/15=n
C) 1/20m

® (D) 1725«

4 .___-,ET-1 930/KD/2228 _ ©)
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AR nstnee salesn il

A cosalesmian sells policies J " identical age and i

it . | Iiit'; o 5 men, all of identical age and in good health, The
l Ty that a man o this padticular ape will be alive after 30 years is 2/3. The probability
that atter 30 years all the five people will be alive is

W 10 (B) 16/81
(©) 2243 (D) None of these

I There are 100 families in a socicty. If 40 familics buy newspaper A, 30 buy newspaper B,
30 buy newspaper C, 10 buy newspaper A and B, 8 buy ncwspaper B and C, 5 buy newspaper
A and C and only 3 buy all 3 newspapers. Number of families who do not buy any
newspaper are
(A 20 (B) 80
©) 0 (D) 40

34. A sum of Rs. 1000 is to be divided among two brothers such that if the interest being
compounded annually is 5% per annum, then the money with the first brother after 4 years is
equal to the money with the second brother after 6 years. Find the share of second brother.
(A) Rs. 52438 (B) Rs. 475.62
(C) Rs. 1000 (D) None of these

35. An amount of Rs. 15,000 is invested at 10% per annum for one year. If the interest is
compounded half-yearly, then what amount will be received at the end of the year?
(A) 16527.50 (B) 16427.50
(C) 16527.50 (D) 16537.50

36. How many 4-letter words with or without meaning can be formed out of the letters of the word,
'LOGARITHMS, if repetition of letters is not allowed?
(A) 2520 (B) 5040
(©) 400 | D) 40

37. Let N be the greatest number that will divide 1305, 4665 and 6905, leaving the same remainder
in each case. Then the sum of the digits in N is
(A) 4 B) 5
©) 6 D) 8

ET-1930/KD/2228 (7) [PTO.
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18, How much does a watch lose per dil, if e

39.

40.

I e
i (oAl 18 64 TTRINREN

() a1 s
(A) 3? AIFI 1% o
(C) A mins
water and 5 patts SY10p Herwr femiets Yo

4 garts of ahich ate iy ol &
‘ oy it thie o 7HIEE 10y 14 skl wrafey ”

A vessel is filled with liguid,
mixture must be deawn off replia sl withy wrales
half syrup?
(Ay 113

©y 115

() 1A
(3 M

il of .t the end of a certain fime
If Rs, 10 be allowed a5 true discount on 4 bill of #5. H(J. due at the mfw!n ok ity 106, fhey
due wt the end of double the time is

(54 Mz 2141

the discount allowed on the same susmn

(A) Rs. 20
(C) Rs, 22 () Ka 1223
41. If log (a/b) + log (bla) = log (a + b), then
(A) a+bh=1 (B) a~b=]
(C) a=h D) &~V =l
42. In what ratio must a grocer mix two varieties of pulses costing Rs, 15 and Rs. 20 per kg
respectively w0 as 10 get a mixture wroth Rs, 16.50 kg?
(A) 3:7 By 5:7
Cy 7:3 Dy 7:5
43. Two persons starting from the same place walk at a rate of 5 kmph and 5.5 kmph respectively. |
What time they take to be 8.5 km apat, if they walk in the same direction? j
(A) 17 hr (B) 22 hrs
© ks (D) 12 hry
44. The M;:Od Of'a 1(::: rr; lomg, running train A is 40, more than the speed of another 180 M Jong
. » - - il 4 (4] f‘nd o . ol H Of tbc
information given in satcments p oo 0 is aufﬁcimn‘m the speed of train B, which
P : The two traing croswd et tther ;,; 6 second '
mconds,
0 : ‘The difference between the “peeds of the 4 -g i
(A) Only p is suffcient (:" traing was 26 kmph.
(C) Both P and Q are needeq ) Only Q is suffcient
D) Both are not sufficient

ET-1930/KD/2228
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46.

47.

48.

49.

50.

(A) 155 sq m (B) 1925 sq m
(€) 144 sq m (D) 385 sqm
In an examination, a student was asked to find 3/14 of a certain number. By mistake, he found

3/4 of it. His answer was 150 more than the correct answer. Find the given number.
(A) 190 (B) 250
(©) 280 (D) 350

Find the missing number in the following series:

6 120 12 108 24 ? 48 84 |
(A) 60 (B) 74
©) 96 (D) 108

A bag contains 4 white, 5 red and 6 blue balls. Three balls are drawn at random from the bag,
the probability that all of them is red is

(A) 1/22 B) 3/22
(©) 2191 D) 2777

The present worth of Rs. 1404 due in two equal half-yearly instalments at 8% per annum simple
interest is

(A) Rs. 1325 (B) Rs. 1300
(C) Rs. 1350 (D) Rs. 1500

A motorbike race was scheduled to start at 4.10 pm; however, it started 10 minutes behind
schedule. If the motorbike that came first finished one hour and fifteen minutes after the race
began, and the motorbike that came in second place finished 15 minutes after this, at what time
did the motorbike that came second cross the finish line?

(A) 5:30 am (B) 4:30 pm
(C) 5:40 pm (D) 5:50 pm
ET-1930/KD/2228 (9) [PTO.

Scanned by CamScanner



"'.t

PART-II

(Logical and Analytical Ability)

DS 1 ich word would be codeq
I a certain langnage, CALCUTTA is coded as GEPGYXXE, wh a3

INQIUE?
(A) BOMBYA (B) BOMBAY

(W) BOMYAR (D) BOBAYM

o : ; alkine to each other face to f
Oune evening before sunset two friends Sumit and Mohit were talking t Az,

. . - . : irecti mit facing?
If mohit's shadow was exactly to his right side, which direction was Su 4

(\)  Nodth (B) South
() West (D) East

53 Complete the next element in the series
L 9 ML HY, IS8, s
A\) 311 (B) 307
© 301 (D) 299
54. Choose the comrect altemative :
abb _ baa _a _ bab _ ab
(A) abba (B) abab
(C) ccac (D) aabb
55. Find the missing character in the following figure :
13 | 54 ?
7 45 | 32
27 | 144 | 68
G, © (D) 4
ET-1930/KD/2228 (10)
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56.

57.

If 31 + 72 = 26;
52 +45 =32
then, what is the value of 47 + 83
(A) 130 (B) 44
© 22 (D) 88

In a row of girls, Kaminya is fifth from left and Preeti is sixth from right. When they exchange
their positions, then Kaminya becomes thirteen from the left. What will be Preeti's position from
the right?

(A) Tth (B) 11th
(©) 14th (D) 18th

Questions 58 to 61:

59.

(1) There is a group of five persons A, B, C, D and E.
(i) One of them is a horticulturist, one is a physicist, one is a journalist, one is an industrialist and
one is an advocate.
(iii) Three of them- A, C and advocate prefer tea to coffee and two of them- B and the journalist prefer
coffee to tea.
(iv) The industrialist and D and A are friends to one another but two of these prefer coffee to tea.
(v) ‘The horticulturist is C's brother.
58. Who is horticulturist?
(A) C B) A
© D (D) B
Who is an industrialist?
A C B) A
(C) D (D) B
ET-1930/KD/2228 (1 [F10:
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. - ikes tea but is not an advocate?
0. Which of the following groups includes a person who likes tc

(A) ACE (B) DE
(C) BD (D) Nonc of these
61. Who is a physicist?

(A) A (B) B

) D (D) C

62. ‘The time by my watch is 10 minutes to 7, find the angle between hour hand and the minute hand.
(A) 110 (B) 120
(C) 105 (D) 95

63. Fill in the missing letter in the following series

Sv V, Yu “- ?

(A) C B) D
C©) E D) G

Questions 64 to 67:

P,Q, R, S, T, V and W are seven students of a college. Each of them has a favourite subject from
Physics, Chemistry, English, Biology, History, Geography and Philosophy, not necessarily in the
same order. Each of them also has a favourite sport Football, Cricket, Hockey, Volleyball, Badminton,
Table Tennis and Basketball, not necessarily in the same order. R likes Philosophy and his
favourite sport is Hockey. The one who likes Football likes English. T's favourite sport is not
Badminton or table Tennis. V does not like cither History or Biology. The one whose favourite
sport is Basketball does not like Physics. W likes Chemistry and his favourite sport is Volleyball.
S likes Geography. Q's favourite sport is Badminton V does not like English and his favourite
sport is not Basketball. P's favourite sport is Cricket. The one whose favourite sport is Badminton
does not like Biology.

64. Which subject does P like?

(A) History (B) Biology
(C) Chemistry (D) Data inadequate
ET-1 930/KD/2228 (12)
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who likes History?

65
A P
: () R
() Q D)
6. Whose favourite sport is Basketball?
A S
) B) W
i )
© Q (D) Data inadequate
67. Which subject does T like?
(A) Biology (B) Physics
(C) Chemistry (D) None of these
68. Two bus tickets from city A to B and three tickets from city A to C cost Rs. 77 but three tickets
from city A to B and two tickets from city A to C cost Rs. 73. What are the fares for cities B
and C from A?
(A) Rs. 4, Rs. 23 (B) Rs. 13, Rs. 17
(C) Rs. 15, Rs. 14 (D) Rs. 17, Rs. 13
69. What wﬂl replace the question mark?
JEIE
6 o5 AN
s[7]2 1A\
4
@A) 1 (B)
© 3 (D) 6
" twice as many
Blue, 108 balls are placed. There are —
70. In three coloured boxes - Red, Green.and in the blue box and twice as many 1n the
. d red boxes combined as there are "
balls in the green an balls are there in the green DOX
blue box as there are in the red box. How many B
(A) 18 @ 2
(D) None of these
© 54 ¢ " [AT.O.
(13)
ET-1930/KD/2228
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PART-III

(Engl'mldComprchcminn)

Questions 71 to 75 :

Fill in the blanks with most appropriate alternative.

71. True health and true success go together for they are inseparably ____ in the thought realm.

(A) tied up (B) bound up

(C) intertwined (D) interrelated.

72. The opposition parties allege that prices of essential commoditics are like a runaway

balloon.

(A) flying (B) reviving

(C) leaping (D) soaring

73. We had a ___ of warm weather in February.

(A) phase (B) length

(C) spell (D) time
74. The accused that had met the deceased before.

(A) remarked (B) refused
(C) exclaimed (D) denied

in his character.

75. Every Shakespearcan hero has an internal

(A) fault (B) weakness
© defect (D) flaw

ET-1930/KD/2228 (14)
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qumlitma 76 16 8O 3

(ut of the given allernatives,

chioose the one wi:
vhich can pe substituted for the given words or sentences:

16, One who walks in one's gle ep:
(A) dreamer

1 /“BJ/ sommambulist

((’y  neomatic e
(D) ignorant

77.  Unable 10 pay one's debt:

(A) bepgar ')B( insolvent

W Jpoor (D) borrower

4. A cure for all discases:

i .
‘ A A) panacea (B) cure
(C) antibiotic (D) remedy

79. A word no longer in use:

extant
[ /,H\{ obsolete (B)

D) nervous
(C'y  outdated (D)

#0. A place for keeping bees:
‘)Ba/apiary

(D) nest

(A) aviary

(C) cage

[PTO.
(15)
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Questions #1 to 83 ¢
foar whools you B8 3 eayp

1 pupils ot Sady one foresgy

fn British schools mest pupils leamn Freach or Genman. In 2

ftalian, Spanish or Puswian. Not many pupils leam Latim sow. A
ds usnally organize wchool wps © Frmez or Germany. Papils

pupils from the Brtish school

language until they are 16, Schoe
travel in a group with their teachen. They say s 2 hotel o
an exchange with another school in France or Germany. A groep of
g0 10 the exchangs town. Fach pupil has a partner and they w2y with thesr
sometimes po o school with their partner. Later in the year the pupils from Fraoce or Germany
come to Britain and stay with their British pariners. Exchange &re very useful, because you &

learn about daily life in another country.

81. In Britain, nowadays, not many pupils leam
(A) French and German
(B) Italian and Spanish
(C) Russian

(D) [Latin

82. Until British pupils are 16, they must study
(A) one forcign language
(B) two forcign language
(C) a lot of forcign languages

(D) their own language

#3. In an cxchange scheme, cach pupil has a

(A) family's partner (B) teacher
(C) partner (D) school
. ET-1930/KD/2228 (16)
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. If a piec i
84 piece of matter violates nature's law, it is not punished
(A) it is not binding to obey it P b
(B) there is no superior being to enforce the law of nature
(C) it cannot be punished

(D) it simply means that the facts have not been correctly started by the law

$5. Laws of nature differ from man-made laws because
(A) the former state facts of Nature
(B) they must be obeyed
(C) they are natural

(D) unlike human laws, they are systematic

86. The laws of nature based on observation are

(A) conclusion about the nature of the universe

(B) true and unfalsifiable

(C) figments of the observer imagination

(D) subject to change in the light of new facts

87. The author is not happy Wilh the word 'law' because

s rigidity and harshness

(A) it connote
agency which has made the

(B) it implies an m
iformi
(C) it does not convery uniformity

(D) it gives rise to false

the sense of nature’s

peliefs

ET-1930/kD/2228 (7)
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Questions B8 to 90:

: G SnA in hunting,
Male lions are rather reticent about expanding, their encrgy 1 ’ p ayfully behj
ly scanning ahcad, the cubs Jag playfully behind

their massive heads nodding with each step ag
val value. With lionesses

more than three quarterg

of kills are made by lionesses are in front, ense

and the males bring up the rear, walking slowly, .
r. But slothfulness may have survi

if they were bored with the whole matte | 7
protecting them particularly from hyenas,

busy hunting, the males function as guard for the cubrs,

88. The male lions generally do not go for hunting because
(A) they do't like it
(B) they want lioness to get training
(C) they wish to save their vigour for other things

(D) they are very lazy

89. Male lions protect their cubs
(A) from the members of their own species
(B) from hyenas only
(C) from hyenas as much as from other enemies

(D) more from hyenas than from other animals

90. Lioness go for hunting

(A) all alone

(B) with their male partners only
(C) with their cubs and male partners
(D) with their cubs only

T e e et

Scanned by CamScanner



